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BEFHF BEX +XH—TH 0.03 5 5 1 1 0 0 0 0 6 6K ER175E9H48
ESECEadll BEX +%BE=-TH 0.02 2 2 1 1 0 0 0 0 3 3|71 ER1759A48
B BEX T¥XH=TH 0.01 1 1 1 1 0 0 0 0 2 2|k ER175E9H48
ESECEadll BEX —TH 0.00 0 0 1 1 0 0 0 0 1 1A ER1759A48
B BEX EH-—TH 0.04 1 1 3 1 0 0 0 0 4 2|k ER175E9H48
ESECEadll BEX EH=TH 0.11 4 4 19 18 0 0 0 0 23 22| ER1759A48
B BEX EHMUTH 0.04 5 5 3 3 0 0 0 0 8 8|k ER175E9H48
ESECEadll BEX EHARATH 0.01 2 1 0 0 0 0 0 0 2 1A ER1759A48
E=ECEsdl BEX BE_TH 0.02 2 2 1 1 0 0 0 0 3 3|AK TR17F9848
ESECEadll BEX B=E_"TH 0.03 0 0 5 4 0 0 0 0 5 4|1 ER1759A48
E=ECEsdll BEX BEE=TH 0.01 0 0 1 1 0 0 0 0 1 1{AK TR17F9848
A BEX BEEMTH 0.00 0 0 1 1 0 0 0 0 1 1|7 ER17T59A48
E=ECEsdll BEX HKNE=TH 0.14 1 1 5 0 0 0 0 0 6 1{AK TR17F9848
A BEX HXNEETH 0.01 2 2 0 0 0 0 0 0 2 2[R ER17T59A48
B BEX ETR&E-TH 0.08 5 5 7 7 0 0 0 0 12 12[AK ER175E9H48
A BEX ELTRE=TH 0.05 4 4 5 4 0 0 0 0 9 87 ER175E9848
E=ECEsdll BEX ETREMTH 0.24 4 4 11 8 0 0 0 0 15 12|AK TR17F984H
E=gi:Eadll BWEX FHE—TH 0.01 3 3 0 0 0 0 0 0 3 3[R FER175E9R48
E=ECEsdll BEX EHMEZTH 0.01 1 1 0 0 0 0 0 0 1 1{AK TR175F9848
ESECEadll BEX FHMEMTH 0.01 1 1 0 0 0 0 0 0 1 1|7 ER1759A48
E=ECEsdll BEX MEP=TH 0.09 8 8 9 9 0 0 0 0 17 17|AK TR17F9848
ESECEadll BEX EHGOETH 0.02 1 1 2 2 0 0 0 0 3 3|71 ER1759A48
B BEX =ZR&—TH 0.03 4 4 1 1 0 0 0 0 5 5|AIIK ER175E9H48
ESECEadll BEX =R&=TH 0.01 2 2 0 0 0 0 0 0 2 2[R ER1759A48
B BEX HBET—TH 0.07 2 2 7 7 0 0 0 0 9 9[AIIK ER175E9H48
BFJl BEX JEET=TH 0.02 2 2 1 1 0 0 0 0 3 3|71 ER1759A48
BFIJl BEX JBET=TH 0.07 8 8 6 6 0 0 0 0 14 14|AK TR17F984H
BFJl BEX ARFER—TH 0.01 0 0 1 1 0 0 0 0 1 1|7 ER1759A48
BF)l BEX ARET—TH 0.02 2 2 2 2 0 0 0 0 4 4Rk ER175E9H48
BF)I BWEX AREI=TH 0.07 5 4 7 5 0 0 0 0 12 9|7 TFR1TF9A4H
BFIJl BEX ARETEOT B 0.01 0 0 1 1 0 0 0 0 1 1{AK TR17F9848
BFJl BEX AREIATH 0.00 0 0 1 1 0 0 0 0 1 1|7 ER17T59A48
B BEX BAR—TH 0.01 3 3 0 0 0 0 0 0 3 3|k ER175E9H48
BFJl BEX HAR-TH 0.01 1 1 1 1 0 0 0 0 2 2[R ER17T59A48
B BEX HARETH 0.00 0 0 1 1 0 0 0 0 1 1[AK ER175E9H48
BFJl BEX BAR—TH 0.16 1 1 1 0 0 0 0 0 2 1|7 ER17T59A48
B BEX EAR=TH 0.03 2 2 3 0 0 0 0 0 5 2|k ER175E9H48
ESECEadll BEX RAETIL3T B 0.02 1 0 0 0 0 0 0 0 1 0|Z D1 ER1957H298
A BEX BH=E2TH 0.03 1 1 0 0 0 0 0 0 1 1|Z0fth TERL1959A6H
ESECEadll BEX JtB—TH 0.03 2 2 1 1 0 0 0 0 3 2[R 224 7A58
B BEX JtEI=TH 0.03 8 8 3 1 0 0 0 0 11 9|AIIK ER2257858
ESECEadll BEX IEI=TH 0.01 0 0 1 1 0 0 0 0 1 1A 224 7A58
B BEX LBTRETH 0.01 2 2 1 4 0 0 0 0 3 6K ER2247 858
ESECEadll BEX JLBIATH 0.02 0 0 1 3 0 0 0 0 1 3|71 224 7A58
B BEX BT TH 0.02 4 4 4 4 0 0 0 0 8 8|k ER2257 858
ESECEadll BEX JLBT\TH 0.02 2 2 3 1 0 0 0 0 5 3|71 224 7A58
B BEX H#H—TH 0.03 13 13 4 2 0 0 0 0 17 15|k ER2247 858
ESECEadll BEX HAF=-TH 0.04 1 1 1 2 0 0 0 0 2 3|71 224 7A58
E=ECEsdl BEX H#E=TH 0.03 2 2 2 2 0 0 0 0 4 4|k TR22F 7858
ESECEadll BEX HFEETH 0.04 1 1 2 1 0 0 0 0 4 3|71 224 7A58
B BEX JBET—TH 0.02 2 2 2 1 0 0 0 0 4 3|k ER2247 858
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B BEX +¥H—-TH 0.02 0 0 1 0 0 0 0 0 1 IZES ER2257 858
ESECEadll BWEX B=E_"TH 0.03 0 0 1 2 0 0 0 0 1 2[R 224 7A58
E=ECEsdl BEX BEE=TH 0.03 1 1 0 3 0 0 0 0 1 4|k TR22F 7858
ESECEadll BWEX EHE—TH 0.03 0 0 2 1 0 0 0 0 2 1|7 224 7A58
E=ECEsdl BEX EBHEI=TH 0.02 3 3 3 1 0 0 0 0 6 4|k TR22F 7858
ESECEadll BWEX EHETMTH 0.03 0 0 1 0 0 0 0 0 1 0[Pl 224 7A58
LSt Es Il BEX EHEATH 0.02 0 0 1 3 0 0 0 0 1 3|k ER2257 858
ESECEadll BWEX E+REMTH 0.03 1 1 0 2 0 0 0 0 1 3|1 224 7A58
E=ECEsdl BEX EH=TH 0.03 3 3 3 2 0 0 0 0 6 5| 7K TR22F 7858
ESECEadll BWEX EHMTH 0.03 6 6 2 1 0 0 0 0 8 7[A7 224 7A58
E=ECEsdl BEX EHETH 0.01 1 1 2 1 0 0 0 0 3 2|AK TR22F 7858
ESECEadll BWEX BEW=TH 0.02 0 0 1 1 0 0 0 0 1 1A 224 7A58
E=ECEsdll BEX mELETH 0.02 0 0 1 1 0 0 0 0 1 1{AK TR22F 7858
A BEX INIEI—TH 0.02 0 0 1 1 0 0 0 0 1 1|7 224 7A58
BEFHF BEX SHET 0.02 0 0 1 5 0 0 0 0 1 5|AIIK ER2247 858
A BWEX PMR=_TH 0.02 0 0 1 1 0 0 0 0 1 1|7 224 7A58
B BEX ZZ,R TH 0.02 0 0 5 0 0 0 0 0 5 LS ER2257 858
ESECEadll BEX %&—TH 0.02 0 0 1 7 0 0 0 0 1 7[A7 224 7A58
B BEX :m —TH 0.03 1 1 0 1 0 0 0 0 1 2|k ER2257 858
ESECEadll BWEX HE=TH 0.03 1 1 7 0 0 0 0 0 8 1|7 224 7A58
B BEX HE_TH 0.03 0 0 1 1 0 0 0 0 1 1[AK FER2247 858
ESECEadll BWEX KINE=TH 0.02 2 2 0 0 0 0 0 0 2 2[R 224 7A58
B BEX #_TH 0.02 0 0 1 0 0 0 0 0 1 LS ER2257 858
A BEX EME—TH 0.02 5 5 0 0 0 0 0 0 5 5[A7 224 7A58
BFIJl BEX JBET=TH 0.02 2 2 5 5 0 0 0 0 7 7|RK TR22F 7858
BFJl BEX ARE—TH 0.05 0 0 3 3 0 0 0 0 3 3|71 224 7A58
BFIJl BEX AREI=TH 0.04 1 1 5 5 0 0 0 0 6 6|7k TR22F 7858
BFJl BWEX ARETETH 0.03 1 1 0 0 0 0 0 0 1 1|7 224 7A58
B BEX LEWHAITH 0.03 1 1 1 1 0 0 0 0 2 2|k Frk225F 78318
SIEHA) BWEX E2FF2TH 0.05 0 7 1 0 0 0 0 0 1 7[A7 ER2358H26H
IE A BEX 2F#E1TH 0.07 0 0 1 1 0 0 0 0 1 1{AK Trk235F8H26H
SIEHA) BWEX Z2F42TH 0.08 0 30 2 2 0 0 0 0 2 32|71 ER2358H26H
SIE A BEX £X43TH 0.02 0 0 2 2 0 0 0 0 2 2|k Tr235F8H26H
A BWEX HBE1TH 0.03 0 0 2 1 0 0 0 0 2 1|7 ER2358H26H
E=ECEsdll BEX IBE2TH 0.10 3 3 4 4 0 0 0 0 7 7|RK Tr235F8H26H
ESECEadll BWEX INAET1T B 0.01 0 0 1 1 0 0 0 0 1 1|7 ER2358H26H
E=ECEsdl BEX FR2TH 0.02 0 0 1 1 0 0 0 0 1 1{AK Tr235F8H26H
ESECEadll BWEX tE2TH 0.01 0 0 1 1 0 0 0 0 1 1|7 ER2358H26H
E=ECEsdl BEX BE2TH 0.02 1 1 1 1 0 0 0 0 2 2|AK Tr235F8H26H
ESECEadll BWEX $82TH 0.01 0 0 1 1 0 0 0 0 1 1|7 ER2358H26H
BHEFHF BEX KIN&E2TH 0.01 0 0 1 1 0 0 0 0 1 1[AK Trk235F8H26H
ESECEadll BWEX EHE1TH 0.01 1 1 0 0 0 0 0 0 1 1|7 ER2358H26H
E=ECEsdl BEX HE3TH 0.01 1 1 0 0 0 0 0 0 1 1{AK Trk235F8H26H
ESECEadll BWEX EFHEISTH 0.01 0 0 1 1 0 0 0 0 1 1|7 ER2358H26H
B BEX JLET2TH 0.01 0 0 1 1 0 0 0 0 1 1[AK Tr235F8H26H
ESECEadll BWEX LEI7TH 0.01 0 0 1 1 0 0 0 0 1 1|7 ER2358H26H
E=ECEsdl BEX JLEI8 T B 0.06 0 0 5 3 0 0 0 0 5 3|AK Tr235F8H26H
ESECEadll BWEX HBE1TH 0.01 1 1 0 0 0 0 0 0 1 1|7 ER245%8A18H
E=ECEsdl BEX BHETER2T H 0.01 2 2 0 0 0 0 0 0 2 2|k Tr25%F8H12H
ESECEadll BWEX RARTE2T B 0.01 0 0 1 1 0 0 0 0 1 1|7 ER255%8A 128
B BEX LEWHAITH 0.05 2 2 2 1 0 0 0 0 4 3|k Tr25%F8H12H
ESECEadll BWEX LRWMHE 0.03 0 0 1 1 0 0 0 0 1 1A ER255%8A 128
E=ECEsdl BEX JLEI8 T H 0.01 2 2 0 0 0 0 0 0 2 2|k Trk25%F8H12H
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E=ECEsAl BEX EHEP=TH 0.01 1 1 0 0 0 0 0 0 1 1{AK TR2656H 248
ESECEadll BEX ETXRE&=-TH 0.02 1 3 2 2 0 0 0 0 3 5[A7 ER26456 248
E=ECEsdl BEX EXtRE=TH 0.00 1 1 0 0 0 0 0 0 1 1{AK TR2656H 248
BFJl BWEX HEET=TH 0.01 2 2 0 0 0 0 0 0 2 2[R ER26456 248
BFJI BEX ARET—TH 0.01 2 2 0 0 0 0 0 0 2 2|k TR265F6H 248
BFJl BEX AREI=TH 0.07 1 1 2 0 0 0 0 0 3 1|7 ER26456 248
E=ECEsdl BEX BHHETATH 0.01 1 1 0 0 0 0 0 0 1 1{AK TR265F6H29H
ESECEadll BWEX BT\ TH 0.03 0 0 5 3 0 0 0 0 5 3|71 ER2656H298
B BEX H#H—TH 0.01 0 0 1 1 0 0 0 0 1 1[AK TR265F6H29H
B/ BEX BAR—TH 0.01 1 1 0 0 0 0 0 0 1 1|7 ER2656H298
BFII BEX EAR=TH 0.01 0 0 1 0 0 0 0 0 1 LS TR265F6H29H
ESECEadll BEX BRI _—TH 0.06 3 5 1 1 0 0 0 0 4 6[M7 ER26457H 248
E=ECEsdll BEX JLEI8 T B 0.01 0 0 5 2 0 0 0 0 5 2|AK Tr285F 78148
A BWEX B#E4TH 0.00 1 1 0 0 0 0 0 0 1 1|7 ER285%7H 148
E=ECEsdll BEX JBET1TH 0.01 0 0 6 5 0 0 0 0 6 5| 7K Tr285F 78148
A BEX FR2TH 0.00 0 0 1 1 0 0 0 0 1 1|7 ER285%7H 148
E=ECEsdl BEX EHHEI3TH 0.01 0 0 1 1 0 0 0 0 1 1{AK Tr28F 78148
A BWEX EHE6TH 0.00 0 0 1 1 0 0 0 0 1 1A ER2857H 148
BFI BEX JBET3TH 0.00 1 1 0 0 0 0 0 0 1 1{AK Tr285F 78148
ESECEa Il BWEX AE6TH 0.02 1 1 0 0 0 0 0 0 1 1|7 ER2858H21H
B BEX HEET1TH 0.02 0 0 1 1 0 0 0 0 1 1[AK Tr285F8H21H
BFJl BEX HARSTH 0.01 0 0 1 0 0 0 0 0 1 0|P] ER2858H21H
BF)I BEX ARE1TH 0.01 0 0 1 1 0 0 0 0 1 1[AK Tri285F8H21H
BFJl BEX ARETATH 0.00 1 1 0 0 0 0 0 0 1 1|7 ER2858H21H
BF) BEX ARFEET2TH 0.01 0 0 1 0 0 0 0 0 1 LS Tri28F8H21H
ESECEadll BEX BRI _—TH 0.15 8 8 11 11 0 0 0 0 19 19[A7 ER295%8A 198
E=ECEsdl BEX BRI T B 0.02 3 3 2 1 0 0 0 0 5 4|k Trk29F8H19H
ESECEadll BEX ARE—TH 0.00 0 0 1 0 0 0 0 0 1 0|P] ER295%8A 198
#E)I BEX L REH T 0.01 0 0 1 3 0 0 0 0 1 3|k Trk30F8H27H
ESECEadll BWEX LTEBHA_TH 0 0 1 0 1 0
Al BERX LTRE#HHF=TH 0.05 1 3 4 8 0 0 0 0 5 11|AK FRk305F8A27H
A BWEX LEHHAMTH 0 0 2 0 2 0
E=ECEsdll BEX TE#HF—TH 0 0 1 1 1 1
3]l BEX TRAF=TH 0.03 1 2 0 0 0 0 0 3 0|k TRk305FE8H27H
E=ECEsdll BEX THREHHMOTH 3 3 1 4 3
EeEC el BEX TRAHOTH 1 5 7 6 3 -
FEE]] GER TEMEATH 0.02 1 3 ; 2 0 0 0 0 2 - Rk TRk305%E8H27H
B mai-u giéz Eiaiﬂa:‘ra 0 0 ] 0 1 0
Eexi:Eidll B X AEHHET=TH S
pET ] GEX S HR T 0.02 ] 5 3 5 0 0 0 0 2 2 Ak L3048 A 27H
BHEFHF BEX ZR&—TH 0 0 1 5 1 5
B BWEX EXRE&—TH 0 0 1 4 1 4
B BEX EXRE=TH 0.04 2 0 0 0 0 0 2 0|k TRk305F8A27H
ik Fanll BWEX EHF=TH 4 7 2 2 6 9
BFJI BEX ARE—TH 0 1 2 2
EEJ] BERX KRETETH 0.02 0 4 0 0 0 0 1 4|k TRk305F8H27H
BFJI BEX ARETHTH 1 0 0 0
BFJl BEX AREI=TH 0.07 1 3 8 13 0 0 0 0 9 16]A7 ER3048H27H
B BEX AREIATH 0.09 2 0 9 3 0 0 0 0 11 3|k Trk30F8H27H
E%JI gélz ?;EI%TE 0.02 1 1 3 1 0 0 0 0 4 2[R ER3048H27H
Eall BEX RFEEET—TH 1 0 1 0 -
2E3]] GEX R ECEEM—TH 0.07 0 0 5 T 0 0 0 0 5 T Ak 3048 A27H
BFIJI BEX BAXRR—TH 0.11 3 10 6 16 0 0 0 0 9 26| 7K Trk305F8H27H
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BFIJI BEX FAR—TH 0.05 2 3 7 11 0 0 0 0 9 14|AK Trk305F8H27H
BFII BWEX BAAR=TH 1 0 1 0
BFJI BEX FEASRMMTH 0.05 0 0 2 3 0 0 0 0 2 3|k TRk305F8H27H
BF)I BWEX BAARETH 4 9 4 9
BFIJl BEX BAARMETH 0.07 0 0 1 0 0 0 0 0 1 0|k Trk30F8H27H
BFJl BWEX HAR=TH 1 1 5 5
Ei;: g;% §§§§$E 005 o 0 2 2 0 0 0 0 2 2|k EH3048H278
BF)I BEX EARATH 3 6 3 6
STHA BEX 2FG3TH 0.01 0 0 1 1 0 0 0 0 1 1{Ak SFTEI10812B~13H
A X HEATH
23]l BWEX E##HE6TH 0.02 0 0 1 1 0 0 0 0 1 1|7k SMTEI0A12B~13R
E=ECEsdl BEX mHEP1TH
BFII BEX JEET1TH 0.01 0 0 1 1 0 0 0 0 1 1{A] SFTEI10812B~13H
aEFHF BEX INMIET—TH 0.00 0 0 1 1 0 0 0 0 1 1[AK SH247H23H
BFII BEX JBET—TH 0.00 0 0 1 1 0 0 0 0 1 1] SF25E7H238




